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A Brother / TS
C. Datais inadequate / 32T

In an examination Suman got mar
Suman. Who got the least marks?

)P NOPQR, 2

el ST 4T G
A. QRSTUV /QRSTUV
C. RSTUVW /RSTUVW
If ROBUST is coded as QNATRS word would be coded as ZXCMP ?
¥ Qv plarar areg ZxeMP & T A Fifed fohar

B. AYDNQ/AYDNQ /

D. YWBLO/YWBLO .
affiona is half the age of Prabhu. If Mani s sixly, find out the age of Ramona.

AT E | AT 39 9 T 3 e & AR el A 3A o, At

B. 10/10
D. 15/15

ok mmmﬁmﬁ#mﬁwmmmsmmﬂs 9

A. 59/59 ) B. 57/51 ~
C. 61/6t D. 55/55



Numerical Aptitude

The length and breadth of a rectangle are in the ratio 3 1. I the breadth is 7 cm, then the length of the rectangle is
| Tk 3T Y e 3R TSI 3 1 AT ARTA B R AEE A, A ITT Hr oS TR

A. emfiem L B. t6cm/16cm
C. t4em/14cm ¢ D. 21cm/2tcm

Calculate the correct answer 126315 - 87924 = 2 X 67 / T&T 3cciX el IUTAT
A. 684 /684 B. 661/651

C. 573/573 D. None of these [ #TE 8

- Calculate the correct answer (- 31 - 35 - 37) + 18 + 17 = ? | gT Fcs
‘A, -138/-138
C. -103/-103

/ﬁHﬂHﬁﬁGﬁ*&ﬁetﬂ?‘rm :
A. 97197
C. 81:49/81:49

. The number of boys in a clag
total number of children imfig

bef of girls. Which one of the feliowing
| | alol
| Th el A TSI

B sy R
3 mﬁaﬁm SET) ‘ n \ -
B. 42/ | <

A. 40/40
C. 48/48 D. 4

Ina class there are 20 boysand 15 girls. The ratio ofb

| U T 3 20 75 3 15 BT B SRICEE
A. 43/43 T8
C. 45/45

- Calculate the correct answer 8731 %\0\6 +0.002 = A/ Fa] 3ccX FIIUTATHL8.31 0.6 +0.002 =7
A. 8.919/8.919 B/ 8.912/8.912 '
C. 8.921/8.921 D. 8.997/8.997 '
; o sombeanshibllinbds + 48127 728 = 7 X 87 / TEY Ica T ITUTAT Y 10531 + 4813 - 728 =7 X 87

B. 186/186 =5
D. 1721172

: B. 360/360 &
C. 120/120 D. 480/480



General English

. Synonym of Depressing is S G
A. Melancholy /- | | B. ‘Hamony /-
C. Rejoicing /- ([ D. Jubiant /-

. Synonym of S,h‘Ting T
1 A. Dreary- B. Murky/-
C. Dusky/- D. Bright/-

. Murder of mother 7 /-
A. Polyglot /-
C. Matricide/-

A. Wardrobe /-
C. Emigrant/-

. Heiis not dependent his parents fo
A. with/-

| Circus : Entertainment\the
A. Working /-
C. Worship /-

Love is often madness. /-
A. compared for /-
C. comparedon /-

3 complanedto/- : .
D. complained of /-

B. Dermatologist /-
D. Volunteer /- ...

yIds to make logical sentences:- for, are, the, searehing, they, robbers /-
B. They searching for the robbers are. / -
D. They are searching for the robbers. /-



General Awareness

. The treaty of Srirangapatna was signed between Tipu Sultan and whom? '
| &g gearet AR R e fReTgeaT S i X e fHr e

A. Robert Clive / e Ferrsa B. Hastings / 8T
C. Gomwalis / FieTarore D. pakhousie / Zergls

- Finance commission is established by ? / faeet 3maYaT &t FUTI=AT fohgrat fa

A- Finance Ministry / faed #FaTer T B. Prime Min.'S‘fY
| FUTTHAT T H3
/)

C; President / 3T€T&T D. pariament /&g

ki W‘hbicrh was the 1st non Test playing country to beat India in an in
| 3AUSET T 7 HRA &l &0 el Yol 3 '
A. Zimbabwe / SftaTed :
C. East Africa / T8 3715RThT

* India won its first Olympic hockey gold in....
A. 1936/1936
C. 1928/1928

. Which amendment of constf

| BT &1 et Y
A. 9tletl .
C. 88/88

C. Guitar Player / TR argsh

- Under Akbar, Mir Bakshi looked z;fter? /
A and revenue / 81/ TTsTEd

B. Fungus /as
D. virys /arRe

B. Noneofthese /AR AP AGT )
D. " sandy soil /XN g 1

Who is not a lama crickter / @l=T Tah wg foheheX w181 &
A. Rahul Dravid / TgeT &1a3 B. pankejiAdvani / et 3TSETOM
C. Ms Dhoni / TH TF &=l D. Gutam Gambhir / 3 aefiT



